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SEEAR A TIARY T NX=X2Thvw b ouT % % % % % AR A TIARUT N—=X2ThHv b ouT L %
FRRHD Bt 36 ZH 36 I'N t % % 4 % % EBRHD B 36 ZtE 36 I'N EEE. % %
8w K % out IN GROSS HDCP NET JE{sz K # QuT IN GROSS HDCP NET

1 |H#HLE & 1MX 45 45 90 21.6 68. 4 51 |5%@ & 10X 45 43 88 13. 2 74. 8
2 [IVHR Tk 6X 40 41 81 10. 8 70. 2 52 |lUA& & GH 45 49 94 19. 2 74. 8
3 |HE S TX 35 40 5 4.8 70. 2 53 |#&F FEZ HX 46 47 93 18. 0 75.0
4 |[Hp 15 10X 41 38 79 8.4 70. 6 54 |HE FH 41X 44 49 93 18. 0 75.0
5 |'FH H— 2[X 35 34 69 -2. 4 71. 4 55 |ZREE 4 46 53 99 24. 0 75. 0
6 |/hE T ES 41 45 86 14. 4 71.6 56 |EH 2 9IX 51 h3 104 28.8 75. 2
7 aEE 9IX 50 42 92 20. 4 71.6 57 |%cH =6l VAES 58 he 110 34. 8 75.2
8 |[1EEEEZ 4[X 41 39 80 8. 4 71.6 58 [t =1 2K 36 44 80 4.8 75. 2
9 |&FHE XA 6 43 43 86 14. 4 71.6 50 |1 | 41X 44 42 86 10. 8 75. 2
10 (A8 = 4[X 45 46 91 19. 2 71. 8 60 [l EX 4X 43 43 86 10. 8 75. 2
11 |BAE =& HX 44 46 90 18. 0 72.0 61 |FE =HE 2[X 47 51 98 22.8 75.2
12 (B4 B IRIES 49 41 90 18. 0 72.0 62 |BE BEK 4x 46 46 92 16. 8 75 2
13 |*FEH 3588 2[X 51 51 102 30.0 72.0 63 |=EF B GH 43 42 85 9.6 75. 4
14 |AFEE FH =3 34 37 71 ~1.2 122 64 (IlLO 1E— 11X 44 47 91 15. 6 75. 4
15 R 1EiE 4 40 43 83 10. 8 72.2 65 |/h#h HE= 9 48 49 97 21.6 75. 4
16 |&FR =EF X 44 50 94 21. 6 72. 4 66 |4 =ITAR 6 47 56 103 27. 6 75. 4
17 1% = 13X 43 45 88 15. 6 72. 4 67 |=EFE ZFTH IRNES 46 44 90 14. 4 75. 6
18 |=18 BE 1= 50 50 100 27. 6 72. 4 68 IUF =ER X 45 45 90 14. 4 75. 6
19 |#:m@ 28 41X 47 41 88 15. 6 72. 4 69 |[BlR AEF 13X 41 49 90 14. 4 75. 6
20 |dEE HF 4X 43 91 94 21. 6 72. 4 70 |¥%  EBERk 14X 44 52 96 20. 4 75. 6
21 |FEE £ 71X 42 45 87 14. 4 72. 6 71 |FEEE IR 9 44 52 96 20. 4 75. 6
22 |YE@ RER =8 41 46 87 14. 4 72. 6 72 |1h#k  EiE ]ES 48 53 101 2h. 2 75. 8
23 BB 9x 42 42 84 10. 8 73 2 3 |71/ A &= IX 45 43 88 12.0 76.0
24 |fE  EE 1M 47 43 90 16. 8 732 74 |12 Coh 9 51 55 106 30.0 76.0
25 |feBE ZEk 4X 46 44 90 16. 8 73.2 h|EE B/ ]ES 47 52 99 22. 8 76. 2
26 | BEe BE 6[X 52 50 102 28.8 73.2 6 |#IE GBS G1ES 45 48 93 16. 8 76. 2
27 | Lo —if IX 48 48 96 22. 8 73.2 7 |4% £ 13X 46 53 99 22. 8 76. 2
28 |5 85 5X 39 38 77 3.6 73. 4 8 |KEH =F 41X 48 50 98 21. 6 76. 4
29 1o B 11X 44 44 88 14. 4 73. 6 79 BEA FRah T 38 36 74 -2. 4 76. 4
30 |HRIE MR = 51 49 100 26. 4 73. 6 80 [MA #B— 41X 47 45 92 15. 6 76. 4
31 |BBZE  EA) 9X 42 40 8?2 8.4 73. 6 81 |8 % =Hi 44 47 91 14. 4 76. 6
32 |[{EBE 183 9[x 54 52 106 32. 4 3.6 82 [l #E|ZE 41X 48 48 96 19. 2 76. 8
33 |gEthEE;ETF =5:1] 47 45 87 1322 73. 8 83 O ERt =411 51 56 107 30.0 77.0
34 ;L KXIE GH 43 44 87 13.2 73. 8 84 |78 BEIE 10X 50 51 101 24. 0 77.0
3B AL tEZ =81 49 44 93 19. 2 73. 8 85 |EA& #=EiE RIS 53 54 107 30.0 77.0
36 |[{FHE Bk GH 44 49 93 19. 2 73. 8 86 |/h#k ShdE X 58 54 112 34. 8 7.2
37 |4EfE HEZ IX 34 40 74 0.0 74. 0 87 |K#T Hnsk IxX 43 45 88 10. 8 77.2
38 /iR Bt 41X 47 45 97 18. 0 74. 0 88 |BE & 5K 49 51 100 22. 8 77.2
39 |Fk LA 4 47 45 92 18. 0 74. 0 89 |7FME HRE 10X 53 52 105 27. 6 77. 4
4 |58 =& 9 48 49 97 22. 8 74.2 90 [sh#x = 1MX 47 52 99 21.6 77.4
41 |kl &% =H 50 47 97 22. 8 74. 2 91 |dhH & 9x 41 39 80 2.4 77.6
42 D BN 4X 53 56 109 34. 8 74. 2 92 |BE 8 9 54 50 104 26. 4 77.6
43 |ER BR 2[X 39 45 84 9.6 74. 4 93 | St == 1= 51 47 98 20. 4 77. 6
44 |Kug ZF— 4X 44 40 84 9.6 74. 4 94 |EHR FEB =] 5? 52 104 26. 4 77. 6
45 |*FEH &= 2[X 42 42 84 9.6 4. 4 95 |KE HE 4X 48 50 98 20. 4 77. 6
46 |=&F B 4K 43 47 90 15. 6 74. 4 96 |fgA FNS =N=TI| 50 46 96 18.0 78. 0
47 |B5x E1T 2[X 47 49 96 21. 6 74. 4 97 % BF 13X 48 47 95 16. 8 78.2
48 |2H &8 4X 38 39 77 2. 4 74. 6 98 (BB Wz 2X 51 56 107 28. 8 78. 2
49 |FH# B =5 50 51 101 26. 4 74. 6 99 |®E 18 4X 46 43 89 10. 8 78. 2
50 |¥¥H =HF =i 39 43 82 T2 74. 8 100 Bl EEW] IX 50 51 101 22. 8 78. 2
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WAL A TNARUT N—=X2Thv b ouT EEEE: % BEAR A TINARUT N—X2THY b ouT EERE %
FRHD 2% 36 Zo 36 I N % %% % % FRHD 5% 36 2zt 36 I N % % % % ¥ %
JE£L K # ouT IN GROSS HDCP NET JEfsL K % ouT IN GROSS HDCP NET
101 |=HE B3 [REES 64 48 112 33. 78. 4 151 |k #nE 1= 61 59 120 36.0 84. 0
102 |/h#F EZ 1M 5? 42 94 15. 78. 4 1652 [/h#k BEE X 56 56 112 27.6 84. 4
103 (# ZE 13X 49 56 105 26. 78. 6 163 |#af &% =A] 56 61 117 32.4 84. 6
104 |=H Et GH 46 47 93 14. 78. 6 154 |;kH 8 9x 52 53 105 20. 4 84. 6
105 [H#LE Bt 9IX 46 47 93 14. 78. 6 165 ZH H=E GH 48 44 92 7.2 84. 8
106 (3kE FOAK 4X 43 50 93 14. 78.6 156 |2 %8 2[X 70 51 121 36.0 85. 0
107 | EH = IX 42 49 91 12 79.0 157 |[BKE Bk 10X 5 45 96 10. 8 85. 2
108 %% B 14X 50 47 97 18. 79.0 158 |FERF{C =X:-0] 55 51 106 20. 4 85. 6
109 [/h#k {EZ T 51 he 103 24. 79.0 159 |18 #A 41X 50 60 110 24. 0 86.0
110 |/ IEfR X 56 H8 114 34. 79.2 160 |#& K 13X 58 52 110 22. 8 87. 2
1M1 (2@ #® 4X 40 44 84 4 79. 2 161 |#8F 9[xX 59 63 122 33.6 88. 4
12 |#5 &7 6X 58 50 108 28. 79. 2 162 |1MI W+ 4X 62 63 125 36.0 89. 0
113 |42 #==Z 1X 49 53 102 22 79. 2 163 |B2 R34 10X 67 60 127 36.0 91. 0
114 |/h4x  35LEH 9X 47 54 101 21. 79. 4 164 fEHE BEX =R 60 65 125 33.6 91.4
15 [#H #H—BF 11X 57 56 113 33 79. 4 165 |Bi = 4X 64 64 128 36. 0 92. 0
116 |B& HE GH 46 47 93 13. 79. 8 166 |&R HDF X 65 63 128 36. 0 92. 0
117 (Nt A 2 50 49 99 19. 79. 8 167 | K8 = 2[X 7 60 137 36. 0 101.0
118 |HF& #HEA =41 50 61 111 31 79. 8 168 |2H & 4X 69 73 142 36.0 106. 0
119 |BERE E& 13X 51 47 98 18. 80. 0 169 (ZHE BRE 4X 76 79 155 36.0 119.0
120 |SBEs =hi 47 44 91 10. 80. 2 170 |2H BE 2X 98 79 177 36.0 141. 0
121 |#&m —ik (=S 50 53 103 22, 80. 2 ZHE |BEHh Rk =hl
122 |EERET X 45 5P 97 16. 80. 2
123 |RE [t 9x 53 56 109 28. 80. 2
124 |iRE —i& 4 57 h8 115 34. 80. 2
126 |H#L #E =3 51 45 96 15. 80. 4
126 |F1E HEAZ% 4X 50 52 102 21. 80. 4
127 |=H #0&d GH 53 48 101 20. 80. 6
128 | KRB 4B 4X h4 59 113 32. 80. 6
129 B ZEFFE IX 50 49 99 18. 81.0
130 |#Em ZX 61X 58 53 111 30. 81. 0
131 |BEH & =11 52 57 109 27. 81.4
132 |%4E LA Zhil 51 52 103 21. 81.4
133 |EHE & 4X 39 39 78 -3 81. 6
134 |HLE EiF = H 50 58 108 26. 81.6
135 |AREF #1E [E3 56 52 108 26. 81. 6
136 |'TFH E= GH 47 43 90 8. 81.6
137 |¥&s B 4X 56 51 107 25, 81. 8
138 [/ B 6 113 .8
139 |k %=iE 5 100 0
140 | $F— 2[X 112 .0
141 | XFH =E m .2
142 |E@E #E 4X 115 .6
143 |t 3% 2[X 114 . 8
144 |F5H BHBA Ix 107 .0
145 |EBE 25 1 107 -0
146 ;B E B8 4 112 2
147 £ $3 1= 106 )
148 [ & =l 105 2
149 |58 =X =H] 98
150 [#%  JF] 13X 116
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